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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in their

own words as far as practicable:

1. ‘Answer any five questions: : . 1x5=5
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i).

Translate the following sentence into a standard
‘form categorical proposition:
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Nothing is both safe and exciting.
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State any one pnnmple regardmg the dlstnbutlon
of terms. .
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State the obverse of the fo]lowing sentence:
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- 80 percent students are honest.
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What is the Boolean Notatlon of the propOSItlon
—"All non-S are P"?
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Symbolize the following proposition by means of

Venn Diagram:
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Everything is beautiful.
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~vi) What is meant by induction leap?
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vil) Give an example of Mill's method of Concomitant
Variation.
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viil) What is the probability of getting an ace in a single
draw from a deck of cards?
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. Answer any two questions: =00
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1) Distinguish between deductive and inductive
argument.
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ii) What do we mean by existential import of a
proposition? Of four types of categorical
propositions, if only particular propositions are
said to have existential import, then how are
conversion, obversion and contraposition, in
traditional logic, affected? Discuss in brief.
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1ii) Distinguish between necessary and sufficient
conditions. Oxygen is what type of condition for
combustion?
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iv) Distinguish between favourable and unfavourable
outcome with appropriate examples.
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. Answer any two questions: IOXZ=20
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i) What are the different forms of standard
categorical proposition? Elucidate with examples.
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ii) a) Explain the fallacy of 1]11c1t minor with an

example.
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b) Test the validity of the following arguments
by means of Venn diagrams (any two):
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2) Some mathematicians are philosophers,
- because, philosophers are logicians and
some logicians are mathematicians.
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3) A poetcannever bea fool. Sukumar Roy
is a poet. Therefore he is not a fool.
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iii) Critically explain Mill's method of Agreement.
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iv) a) Why is a scientific hypothesis always
probable? )
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Calculate the probability of the following
events:

b)
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i)

'A box contains 6 red balls, 4 white balls
and 5 blue balls. What is the probability
of getting three blue balls in three
successive draws of balls from the box?
(If the drawn balls are not replaced).
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A dentist’s chamber has five entrances.
Four patients reached there at the same

time. What is the probability that the four

patients would enter into the chamber
using the same entrance? 2+(4%2)
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